
1 2 3 4 5 ��ก	

��	
����	�

��	����� �����
�������	���ก

55

1 �������	
��	
������������

������������	���ก��ก	����� 

!"	�
	�#	
$%�!&'��#'
�	(ก	����

�	�')�	������$ก��

5 1 2 3 4 5 4.5270 4.5270 0.2264

2 �������	
��	
������ก	�
��	�)��#��(����� ��	
!"	�
	� 
$��%�ก	���	
�'��	�#	

$%�� )34	�#�5����6����7�
������	�

5 1 2 3 4 5 5 5 0.2500

�	
	��
����ก	
�������
	 ก	
�	!��	
��
"�ก	
�������
	 ก	
 �
�$�	�%���
�!	& '.).2553
!�	��*+	��+,"��ก��  ��*+	
,���"��	+ (
"� 12 
�."�)

!���*01 1 !����2	��
���*3��� 

����	

4$�	!����������
	 ก	
 

�!	+
���

��� 0����


ก&56ก	
7�2�����

���	 
���ก

3 �������	
��	
������ก	����� 

!"	�
	�#	
$%�!&'��#'
�	(ก	�!����	!8��!��
	6 
9.4. 2553  )����)���

�ก��ก:65$��� �
�����
)���
��#� !�����5
�9	����
������	�

3.1 ��	�����ก4;ก:	#�	�(	#' 
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1.5 20 25 30 35 40 30 3 0.0450
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1.5 1 - 2 - 3 4 5 0.0750
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5 ����������	��'���$���	�
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4 10 15 20 25 30 67.31 5 0.2000

6 ����������	��'��� ��?��	�
���	�����5)����	
	�(����
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ก'�!��>�(�5���	�

���(���������(	#'��?������
�	�	(	#' #���	�	��5!����	
$��/��?���ก�'���!����	

4 10 15 20 25 30 9.62 2.87 0.1148

7 ���������%��	��'(	ก	�)��
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���
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4 60 70 80 90 100 1.92 1 0.0400
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30 1 2 3 4 5 3.99 3.99 1.1970
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9;�9������
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2 65 70 75 80 85 85.50 5 0.1000
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2 65 70 75 80 85 65.00 1 0.0200
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2 65 70 75 80 85 57.20 1 0.0200
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�6�ก��
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2 65 70 75 80 85 59.48 1 0.0200
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2 1 2 3 4 5 5 5 0.1000
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2 1 2 3 4 5 5 5 0.1000
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2 70 75 80 85 90 99.88 5 0.1000
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2 70 75 80 85 90 83.45 3.69 0.0738
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2 1 2 3 4 5 5 5 0.1000
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1 60 65 70 75 80 74.47 3.89 0.0389
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1 0 0 1 2 3 3 5 0.0500
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ก	���'ก	��'(	ก	� $��ก	�
)�	� ��	� �4'�!�$����@�3��

)����������ก��9��3ก'�����6�

1 0 1 2 3 4 4 5 0.0500

14.5 
�ก	�)�)����
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���� 
!��ก	4 ���ก
ก6J5ก	�
��'�	����ก	�#�	�I����6�
���
�
	��
$��)���
��
�
�

1 0 - 1 - 2 2 5 0.0500
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1 1 2 3 4 5 5 5 0.0500
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ก�	���

1 1 - - - 5 5 5 0.0500

15.2.2  �������$������	

=	��ก	�E���	�)�	)�����
ก��E��

1 65 70 75 80 85 94.97 5 0.0500
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1 1 - - - 5 5 5 0.0500
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1 1 2 3 4 5 5 5 0.0500
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1 1 2 3 4 5 5 5 0.0500

16 �������	
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������ก	�
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1 1 2 3 4 5 4 4 0.0400

17 �������	
��	
������ก	�
��	
�'��	�#	
����#��ก	�
9�@�	� 6=	9ก	���'�	�
���ก	�=	���N  (���	���ก������
 15)

15 1 2 3 4 5 4.1959 4.1959 0.6294

100 3.9669


